ROBOT ARM(HOBBY)

Manual No.:

Copyright©2009 by DAGU Hi-tech Electronic Co., Ltd.

Allrights reserved. No portion of this instruction sheet or any artwork contained herein may be reproduced in any
shape or form without the express written consent of DAGU Hi-tech Electronic Co., Ltd.

The manufacturer and distributor cannot be held responsible for any damages occurred by mishandling, mounting
mistakes or misuse due to non-respect of the instructions contained in this manual.

A‘RE)?)\

Intelligence Centre ®

Manufacturer: European Importer:
DAGU Hi-Tech Electronic Co.,LTD AREXX Engineering

WWW.AREXX.COM.CN ZWOLLE, HOLLAND

© DAGU CHINA

Address:NO.4-107/108 HengXing Street, HengHai Rd, South District, ZhongShan City of GuangDong China
TEL:0760-88811951

http://www.arexx.com.cn

E-mail:info@arexx.com.cn




Necessary tools:
Before assembly, you have to prepare the following tools:

Screw driver (Included) Hex spanner (Included)

Components list:




Screw M2.0*6 (snap - Screw M2.3*8 : Screw M2.6*6 : Screw M3.2*8
head self-taping) ; (self-taping) ) (self-taping) ; (self-taping)

ﬁ@ ﬁ
Screw M2.3%6 (snap

Screw M3.0*6 . Screw M3.0*8 . M3 nylon nut .

4pcs . 8pcs  head self-taping) , 4pcs » M3 nut 4pcs

' 10pcs

Asseble instructions:

Step 1. : Step 2.

Screw M3.0*8 Screw M2.3%6 (snap
5 head self-taping)




Screw M2.0*6 (snap: Step 4.

head self-taping) Screw M3.0"8

Screw M2.3*6 (snap
head self-taping)

Screw M2.3*8.

@@:M:Se , (self-taping)
\—/ :




Step 8.

Screw M2.3*6 (snap
head self-taping)

Screw M3.0*8

Screw M2.3*8
(self-taping)

Screw M2.6*6 .
(self-taping) .

Screw M2.0*6 (snhap
head self-taping)

Screw M2.0*6 (snap .
head self-taping) .




Screw M2.3*8
(self-taping)

Screw M2.6*6
(self-taping)

Screw M2.0*6 (snap
head self-taping)

Screw M2.6*6
If-taping)

(self-
Screw M3.0*8

Screw M2.0*6 (snap
head self-taping)




iStep21.

+ Screw M2.3*6
' (snap head
i self-taping)

Screw M2.0*6 (snap
head self-taping)

Screw M2.0*6 (snap
head self-taping)

Screw M2.0*6 (snhap
head self-taping)

Screw M2.3%6
(snap head
self-taping)




Screw M3.0*6




Finished diagram




	1
	2
	3
	4
	5
	6
	7
	8
	9

